ER-IERRREE-RR

SH6FSA23AHRE
EXEE AREXIRE

R HX PN
PN T — R X8 KBRAF
MRTMEEELHT M | KBRH
*7 GRKE) |REmEEHEE (15
(THKRE) |LIEREEREE -
EmEEHEE [RR)IRE=165
-2 FEE 5 KR FE=(8, 10.8)
ok RIITHFER], =INHEA],
BEANEAKF®R [RIKRER)IFEER)IA K ER)IKALD) - 548 - FBEEE- B8 I8k i
ICkBEHE (BENIKEL EE - KFAE- 8- S EXE- 2T - TIRKE],
e RINKZ AN - RB)I [ZE - F%iE]
- . fE 20m/s
A FRRRE fi: 25m/s
= o ; Bt 20m/s EEES
35S THEE B L 5m/s BEFES
AE BEEDRES 1285 E DFES10cm
R EEES 3.0m
= 8 AL 2.2m*?
X REW=EHEE |10
TIENSEHEE |14
EmEREEE [RRIIRE=132
EEIGRE=(5, 5.6), T KERE=(8, 6.4),
Eoga BRIIRE=(519), EZBER)IIFE=(8, 17.5),
_ B )1 FRigi=(9, 19.8)
RIITHFaR], =INHEA],
BEANHKT®R [RIKRERIFE ER)IAKER (FR KAL) - 545 - G - B8 IA K #Kit
ICkBEHE (BENKEL) - EE - KFHE -8B - S B KIB- 2T - EIRKIE],
KR - RE)I [=E - Fr%iE]
W . fEE 12m/s
SR A T RE B 15m7/s
= T , fEE 12m/s EFH#ES
A= FHRE B T5m/s BEHES
EER AE BEEDRS 1285 EEE D iFES5cm
K e 1.5m
=i AL 1.5m
ES EEZICIYBELNTEINDEE
BE
o - fEE 100m
p-—+ 1RI2 B 500m
BrI% B/INEE40% TERTE60%
Bih OEEDFES20cmLL LHYBEE DFES30cmbl £
- QEEDFEE0cmI EHYBBTIRICCUEEENRYDBER®
KR =IESUE-5CLUT
& R IESRUR4ACLLT
7&K
. 2B E DFES: Eh20cmPl b 1LH#40cmEL L
o= £38:-2°C~2°C
IR P R AT TR 5 BRI E T100mm

NEREREEY KRS OHEASHhEICLSREEERLTIET.
*2 RIRFFHSE 8 DELEE KB ELBIATCRRR., X8R5 1155 B B Z B K AL(2.2m. 22mAD LD EERREZEL T, ChICES T SHERERKRTEIEANHYET,

¥ REBIRKRERSZEDIE.,



